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Instructions for the Candidates

. Write your Roll Number in the space provided on the top of this page.

. This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.

. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet
without sticker seal and do not accept an open booklet.

{ii) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should
be got replaced immediately by a correct booklet from the invigilator within the periody of 5 minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A), (B), (C) and {D). You have to darken the oval as indicated below on
the correct response against each item.

Example: (A> @ (© (B> where (B) is the correct response.

5. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper — II only. If you mark your
response at any place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.

. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except
for the space allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any
other unfair means, such as change of response by scratching or using white fluid, you will render yourself liable to
disqualification.

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and
must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of OMR Answer Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative marking.

. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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COMMERCE
Paper - II
1. The Corporate Social Responsibility 1. sluRe ARaA Al AdlA
law came into force in st21€l ol wHAM] wucal.
(A) April 2014 (A) April 2014
(B) April 2013 (B) April 2013
(C) April 2015 (C} April 2015
(D) April 2016 (D) April 2016
2. Contractual rights and duties are 2, 52AR WHR £551 v 5291
created by ot Gedw B.
(A) Proposal (A) €ullxt
(B) Parties (B) uats?
(C) Statute (C) R
(D) Custom/usage (D} Ratos /yallol
3. Bonus issue is alsoc known as 3. Glloid 8ol EIERIE]
1. Script issue A B,
2. Right issue L. slue 8y
3. Primary issue 2. B2 Y
4, Capitalisation issue 3. il gy
Codes : 4. 3lecusRaa vy
(A) 1 and 4 Codes :
(A) 1 uxal 4
(B) 2 and 3 (B) 2 wa 3
(C) 2,3 and 4 (C) 2, 3 ual 4
(D) 1,3 and 4 (D) 1, 3 ¥l 4
4. ICICI-Big Bazar Card is an example of | 4. ICICI o{lot o112 51§ 3l Gels0L 8
(A) Whole credit card A) & 38l 51§
(B) Co-branded credit card (B) sl-ollads 3Sle 518
(C) Debit card (C) 3olle 51§
(D) International credit card (D) AR AR 38le 51§




The concept of human relations was
developed by

(A) Henry Fayol

(B) Elton Mayo

(C) Max Weber

(D) Robert Owen

. OECD stands for

(A) Organization for Economic
Cooperation and Development

(B) Organization for Environmental
Control and Development

(C) Organization for Environmental

Cooperation and Development

(D) Organization for Environmental

Co-ordination and Development

. Which of the following is correct for

regression analysis ?

1. Provides estimates of values of
dependent variable from values
of independent variable.

2. Used for measuring error involved
in using regression line based on
estimation.

3. Cannot be used for calculating
co-efficient of correlation.

4. Is a measure of degree of
co-variability between two

variables.
Codes :
(A) Only 1 {B) 1 and 2
(C) Only 3 (D) Only 4

5. Hloldl ¥oitlell vale A ocll

(A) o3l FAet
(B) 2ol N
(C) As™ AwR

(D) QAute Qe

. OECD d2A

(4) AWletsIaat 52 S5l0Ms

slaluRelel Aos Jacunoe

(B) 3letlefB2tet §12
vlocll2RNe2A So2lA Vlod
Ao

(C) w3l RUet §12
ocylANoe A SIRAIUR L
Uos Saduiee

(D) letieSpetel §12
Wecll2l N2 S8Rt

Wod dAAURGR

7. RAeimiell 52 RAad voitis HER

UY B ?
1. ol Actotl Hea uell

AU UL HEUoA BWEL%

U B,
2. 3Astet cllSal aendld

gt adl geell dugll

w2 Guaalall.
3. usoluall oulisell ol
scliMi Gullol 53l astdl

ot 9fl.
4, d QA YA Aol uslQuasl

HoL HY 8,
dsl :
(A) WA 1 (B) 1 ¥lal 2
(C) {3 (D) WA 4

= g



-

8.

10.

11.

MAST principle in banking denotes
(A) Mortgage Asset Security Transfer

(B) Marketability, Ascertainability,
Stability, Transferability

(C) Market Asset Security Transfer

(D) Mass Asset Security Transfer

. Micro economic theory deals with

(A) Economy as a whole
(B) Individual units

(C) Economic growth
(D) Supply

The year in which income is taxable is
known as and year
in which income is earned is known
as

(A) Previous year, Assessment year
(B) Assessment year, Previous year

C) Assessment year, Assessment
y
year

(D) Previous year, Previous year

NFRA stands for

(A) National Financial Reporting
Agency

(B) National Financial Reporting
Authority

(C) National Financial Responsible
Agency

(D} National Financial Responsible
Authority

8. olsloti MASTe ettt 9
Yua g ?
(A) MENer A2 Y sANE 2l
(B) HE(Acd], suZalcld],
wAE, zleusdAcdlél
(€) wEe ude dixlildl aleus

(D) W AAe 502 2leus

9. HISS $5lllls ofladl W dolu B.
(A) UHA v
(B) callselolcd AsHl

(C) 2wells [@siat
(D) YRabl

10. % H{ BUAS s3UN AR B, A
a — 33 Waua 8 v ¥
cful wetsell sl s 8 daq

ddls dlawa 8.
(A) wesd o, ausell ad
(B) auste(l o, wisse ad
(€) 2usRel ax, vusiell ad
(D) Wese ael, wee ay

11. NFRA 2@

(A) At siSatlaflac RWEbL
Wogodl
(B) A2elet si8eller{lact R W&t

A AEE
(C) Adc slSallollact

Radlefloict sxadl
(D) Aeel HlEala{lact

RuQexlleet 200318l
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12.

13.

14.

Which of the following are benefits
of GST ?

1. Creation of unified nation
market.

2. Boost “Making India Initiative”.

3. Reduction of compliance burden
on tax payers.

4. Elimination of double taxation.
Codes :

(A) 1,2,3

B) 1,2

C) 1,2,4

(D) 2,3,4

Large-cap Stocks are those
ranked from by market
capitalisation.

(A) 101 — 150
(B) 1 - 100

(C) 151 - 250
(D) 251 - 500

Identify the characteristics that affect
marketing of services.

(A) Branding, Positioning,
Segmenting, Mixing

(B) Intangible, Inseparable, Variable,
Perishable

(C) Brand image, Equity, Unique,
Variable

(D) Tangible, Separable, Variable,
Perishable

12. o{lAotnigll sl GSTolt SIAEL B ?

1. YEsss At Hbeo] uXal

2. “Udlo sl Sol2llAdle” A
Yledl&ol

3. SRWLclt URell dajWcol ollatil
ualsl

4. (3 52a3el cueousl
ysll :
A) 1,2, 3
B) 1,2
€)1, 2,4
(D) 2, 3, 4
13. wEe dlecugRalot YIB! % ¥\ 59
%ot YHIQ sl Al el
%U (large-cap) Séclial.
(A) 101 - 150
(B) 1- 100
(C) 151 - 250
(D) 251 - 500

Actletl u35Qel UUR 5cll

el Aol

(A) uleslot, Woflatellol,
AotRL2lo1, Msalla

(B) Boeeolel, SeAURGA,
A, Waea

(C) olies BNy, Ssdldl, Yolls,
Ailanc

(D) 2oHule, AURGE, AZlAud,
PEIBALCY

14,




-

15. Responsibility flows in 15, wcleeldledl Yeus
(A} Downward direction (A) (Aol (22U ds £l2a(l
(B} Upward direction (B) Gurell Rau drs elragll
(C) Horizontal direction (C) w8l E-.].?Cllgﬂ
(D} All directions (D) dad elragll

16. If balance of payment is adverse 16. 518 EaHl AR rle(l Undeu
then which institution will help @Quild 8la cl 585 e A e
that country ? UEE %28 ?
(A) World Bank (A) acd dos
(B) World Trade Organization (B} acd 25 wRd\ellef Bt
(C) Asian Development Bank (C} Aot Saclluno Ao
(D) International Monetary Fund (D} Soeaotcd HlA2E] §5

17. The alphabets of the word “ARTICLE” | 17. “ARTICLE” 20€o{l aglHioua %l

are arranged randomly. What is the M I JUSschellHL 2 cl 2R WS
probability that the vowels occupy %l?lﬂ (even) 2ellst QA Aell Aol
even position ?
secll ?

(A) 7/35 (A) 7/35

(B) 1/35 (B} 1/35

(C) 3/35 (C) 3/35

(D) 4/35 (D) 4/35

18. Pradhan Mantri Vaya Vandan Yojana | 18. YtlletM{l cial cget lxell

(PMVVY), condition for the minimum (PMVVY)HL %\statelto{l 209
entry age is 2068 G2

(A) 55 years completed (A} 55 ad y2u

(B) 58 years completed (B) 58 ay YL

(C) 60 years completed (C) 60 aAx YL

(D) 65 years completed (D) 65 oy YL
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19.

20.

21.

Which of the following is an implicit
cost of production ?

(A) Wages to the labour
(B) Rent on building
(C) Interest on owned capital

(D) Payment for machine

Value of rent free accommodation
owned by employer in the case of
non-government employee in a city
where population exceeding 10 lakhs
but not exceeding 25 lakhs

(A) 7.5%
(B) 10%
(C) 15%

(D} 25%

BRSR stands for

(A} Business Responsibility and
Survival Reporting

(B) Business Responsibility and
Social Reporting

{C) Business Responsibility and
Sustainability Reporting

(D) Business Responsibility and
Standard Reporting

19. [AAcuHiel Gauteotoll aleld usaR
5688 ?

(A) SIHELRA 1yl

(B) HSslel UR GUl§

(C) clloll 38l uR caues
(D) 2l Heoll ysagl

% Adwll caxcll 10 ciwell ay uqg
25 AWl ay o slat dat adeil

Qe st sHadla 1lds dsel
HOlcAL ULSL 45l 861RLe] Hea

20.

(A) 7.5%
(B) 10%
(C) 15%

(D} 25%

BRSR W2&

A) @A Radlellellcld] Aos
Ualae dudlol

(B) @laad Rullerllellcllé] Aes
Agllae Al

(C) L Ralle{lollclld] Ros
U2ollellcldl Ao

(D) o Budlelollclld] Res
Rles§ Ao

21.
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22. Under which circumstances, the

23.

unpaid seller’s lien is lost ?
1. When price is paid by buyer.

2. When the seller waives his right
of lien.

3. When the buyer disposes off the
goods by sale without the consent
of seller.

4. When price is yet to be paid by
the buyer.

Codes :

(A) 1 only

(B) 1 and 2
(C) 1,2and 3

(D) 4 only

AMFI stands for

(A) Association of Mutual Funds
Institutions

(B) Association of Monetary Funds
of India

(C) Association of Mutual Funds in
India

(D) Association of Market Funds of
India

22, @AAstiuiell sau oo,
BRLY s AARSAT Wcllall 560
&5 JHLA B.

1. %202 WAleaR Bud ysa B.

2. AR AUAR SHUHlol &5
wcll 52 8.

3. U Wileallr HIAaA AARL
g2l AuUellzoll AHQA R st
ad 8.

4. AR wWileal? (Sl
Ysagll asl ANA B.

Usll ¢

(A) HA 1

(B) 1 ua 2
(C) 1,2, U 3

(D) WA 4

23. AMFI 2@

(A) VR0t g 12 JUA §5
Sordlexale

(B) WARBLale 20s WAL &5 6lS
Soslal

(C) AARAAAA vg 1 22YuA §5
ot a8l

(D) NARVA=t Blg W2 §5 25
gadlal
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24.

25.

26.

Factors influencing consumer
behaviour

(A) Cultural, Social, Life style,
Impulse

(B) Cultural, Influential, Life style,
Belongingness

(C) Cultural, Social, Personal,
Psychological

(D) Cultural, Social, Parental,
Impulse

The ability or capacity to influence
the behaviour or attitude of other
individual is

(A) Power

(B) Authority

{C) Accountability

(D} Responsibility

Which of the following is true about
the annual budget prepared by the
Government of India ?

(A} It is part of the fiscal policy of
the Government

(B} It is part of the monetary policy
of the Government

(C) It is part of the money saving
policy of the Government

(D) It is part of the Commercial
policy of the Government

24, &5 AcdRsal WAUR scll UIloAl ;

(A) uiusdls, WHws, Wdetaldl,
Hlyel

(B) diugcls, BAUER, Wasadl,
WAtug

(C) Uusdls, s, culbadld,
WoHls

(D) diugcls, wHys, Qde,
HlAl

25, (o calsaoll adrs ¥ acal v
scllofl o2l 3 &HA D

(A) UG
(B) ¥l
(C) GrzelReat

(D) clleLd]

26. [AAsuMiell sy eucla As12 gLzl
dau? adt curlls oiBe M2 WY 8 ?

(A) A ¥s16(l ersi{lat (il
oL 8.

(B) A aestel sttausla oflcdlell
oL 8.

(C) & uRs1ReAl sttauslaL viaudedl
olllell auoL B.

(D) A AsRAl el oflclloll
oL 8,
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27. Match the items of List — I with the | 27, Q.LQ[]__I ol sl {izﬂ_uq-ﬂ ololell
1t;=:ms of List —II 1f;t'nd indicate the code Al N 53| Wl 2092 HAALel Sls
of correct matching. YU Al

List -1 List - 11 Q_L;_[]_ -1 Q,LG -1
1. Secondary a. Questionnaires 1. ate wlElAst a ysilacl
Data Sources A
2. Primary Data b. Arranging Data 2. u{alﬂs HEAlR b Rl
Sources in groups/ AA AlRL UHE/
classes L
>
3. Classification c. Upper limit of s ctell
of Data class-interval 3. ‘-ll@(a"j adlsrel e aoledl
is lower-limit Gedllau A
of succeeding A ugdleit
class-interval calell
4. Exclusive d. Govt. AR
method of publication 4. R Asél d. sl
data collection s2clell @Qalle Ysiel
Codes : . uteledl
el
l1 2 3 4
1 2 3 4
(A) a b c A a b c d
(C) ¢ b a d (C) ¢ b a d
M d a b ¢ (D) d a b c

28. Deposit insurance with the same 28. 5% GlsHL AL HIZell [Qutoll

Bank is limited to Halel :
{A) 1 Lakh (A) 1w
(B) 2 Lakhs (B) 2 cliw
(C) 5 Lakhs (C) 5 clwt
(D) 10 Lakhs (D) 10 ctw
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29. Gresham’s law is related to 29. JelHoll stLEl Autlld B :
(A) Consumption and demand (A) a9l el HIDL
(B) Supply and demand (B) Mol Aal Yl
(C) Circulation of money (C) llRlall YAUIR
(D) Deficit finance (D) il Wl
30. The maximum gratuity limit 30. MRl URsRe(l sletoll HedM HyR
sanctioned by Government of India CEIGE omq&Sél :
at present
(A) ¥ 10,00,000
(A) ¥ 10,00,000
(B) ¥ 15,00,000
(B) T 15,00,000
(D) ¥ 25,00,000 (D) ¥ 25,00,000

31. Match List-1with List~ Il and indicate | 31. yl-1¢{l ctardlal YUl-114l stotl

the code of correct matching. A8 AN 532 A 202 Hclell 515
List - I List - I1 YUl
_ _ yll -1 YAl -1
1. Proprietors a. Price .
1. {fAas a. Bud
2. Employees  b. Solvency 2. sl b. Akl
3. Government c. Taxation 3. Y512 c. %231
4. Creditors d. Bonus schemes 4. ARLELRL d. ooty Aol
e. Profitability e. ails5cl
Codes : sl
( A) e b ¢ d (A) c b ¢ d
B) a b ¢ d B) a b ¢ d
(C) a ¢ e b (C) a c e b
(D) e d ¢ b (D) e d ¢ b
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32.

33.

34.

Where a company issue shares
at a premium, a sum to the equal
aggregate amount of the premium
received shall be transferred to

(A) Capital redemption account
(B) Capital reserve account
(C) General reserve account

(D) Security premium account

bonds are bonds issued
by Indian companies in foreign
countries, but are denominated in
Indian rupees.

(A) Gilt
(B} Equity
(C)

(D) Masala

Deep discount

Match the items of List — I with items
of List — II and indicate the code of
correct matching.

List - I List - II
Company Product
1. Revlon a. Hospitality
2. Ritz-Carlton b. Cosmetics
3. Wallmart ¢. Electronic
products

4, Philips d. Discount
stores

Codes :

1 2 3 4

(A) b ¢ d a

B) b a d c

{C) b a ¢ d

(D) b ¢ a d

32.

33.

34.

ol Suo{l M anel AR welr wd
Y 5t QR 251 B2l 8
A wellHl wd 8,

(A) 38l uRd uwid
(B) 33l ottt Wi
(C) UM BotlHct vt

(D) oa{leto(ldl MMam v

oS el suo{lad

(A2 9l eurclal AR ¢slR
sl 8.
(A) Gilt

(B) &s<tél
(C) $lu SlesLGe2
(D) HAULEAL

YA-160 sttordtal yRA-11ell oot
AU A 53 oA AU Hcllell 5LS
yud.
YAl -1 Yl - II
fuoll Qetat
1. 2acllel a. H3Hla
alell
2. feu-sidedt b. Wedats
3. dlaHe ¢. gAslells
delsll
4. (seliv d. dndr R
sl ;
1 2 3 4
A) b ¢ d a
B b a d c
) b a ¢ d
M b ¢ a d




35. The concept of MBO is
introduced by

(A) Henry Fayol
{(B) Peter Drucker
{C) F. W, Tailor
(D) George Terry

36. In which year WTO established ?

(A} 1995 (B) 1996
(C) 1998 (D) 1999

37. If researcher rejects Hy, when H, is

true he/she might be making
(A) Type II error

(B) Type I error

(C) A correct decision

(D) Type I and II error

38. Payment of a cheque is not a
payment in due course in the
following circumstances

1. Payment of post dated cheque.

2. A cheque bearing crossing in
the name of ‘one bank’ is paid
to when processed by “another
bank”.

3. Payment of which was already
countermanded.

Payment in accordance
with apparent tenor of the
instrument.

{A) 1, 2, 4 only
B) 1, 2, 3 only
{C) 2, 3, 4 only
D) 1, 3, 4 only

»

35. MBOecll vl wUslLR
(A) ¥e3l 3t

(B) dle? g8
(C) A% 56e3Y. 2ER
(D) *s2llef 231
36. sal <lul WTO-(l 2euustl ae &l ?
(A} 1995 (B) 1996
(C) 1998 (D) 1999

37. %2R H, AR 8lA wUat oA 2slus

H, ol 221512 52 AR d/agll
5 B,

(A) USR II ¢cd
(B) ustz I ¢t
(C) A gl
(D) UsiR 1A Bal YSIR 11 4

38. o{lAotl AWMl As ofl Ysagll A
YsaRl ataudl oell.
1. uglotl cltidlwa Asell Ysagll

2. s olsell A1l M3 52
A Asell Ysaell olly dlsell

stlcudl ydl gl aie sal
w1,

3. } Asell Ysagll e «Aa B.

4. As N3 sl U
lofAlR Ysae(l.

(A) HIA 1,2, 4
(B) WA 1, 2, 3
(C) A2, 3,4
D) WA 1,3, 4




-

39. The demand for salt is inelastic 39, Hlslell Hidlell ([AatauDetcle sia 8.
because ‘ A) ofl2ll Bt
(A) Low price
(B) Absence of it makes food (B) cloll NR61%3 ellwotal relle(got
tasteless Glotldl
(C) No substitute (C) Ay <l
(D) Substitute (D) WA B

40. The Employer’s contribution to NPS | 40. slcHi {Alslell slol NPSHI

Zi)pégszr;tszary (A) UdURAL 8%
(v]
(B) 10% of salary (B) UollRell 10%

(C) 14% of salary (€C) WoURel 14%
(D) 20% of salary (D) WdURell 20%
41. RTGS denotes 41. RTGS Jud B
(A) Real Time Gross Settlement (A) 3lad 2l olU AN
(B) Real Time Gross Savings (B) Flaet 215 N Aldeo1y
(C) Real Time General Service (€C) a 21 wal2ct Uy
(D) Real Transfer Gross Settlement (D) A 2lor$R AU A2AN o
42, Opportunity cost means 42, ds usdlell wy
(A) Cost of homogeneous product (A) s uu{l Velatell usar
(B) Cost of last unit (B) Bcall Asuell USAR
(C) Cost of next best alternative (C) ([on A [Ascusll UsdR
(D) Cost of all units produced (D) cal Geult ot Aslell UsAR
43. Standard deduction from income | 43. Hslot Rasdell vuasHiall yreld
from house property is suUld 8.
(A) 10% of NAV (A) vl adls yeuatl 10%
(B) 15% of NAV (B) Qv cxlls 3caell 15%
(C) 20% of NAV (C) Avuit ar{ls yciell 20%

(D) 30% of NAV (D) Wvatt afls yeatell 30%
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44. Match the items of List — I with the | 44. YA\-I ol sl Y2A-11 oft st
items of List — Il and indicate the code A8 A 53| 2 202 HlcAlell 51S
of correct matching. yud.

List - I List - II
. Quick a. Shows the yll-1 yll-n
ratio ability to 1. sells OJQH o2 §uelloll o8l
generate profit g2clloll ncl
of a company £9ld D
. Leverage b. Ascertaining .
ratio the value of a 2. dleRy otk b. Suslleg Hel
company assl 52 B
. Market c. Capital .
value ratio structure of a 3. 2{‘3{2 HEL | sucﬂ?i Hsl
company JEIRSE HoYy
. Profitability = d. Stricter measure 4. otgis25 Otk d. Suoll ol
ratio of liquidity of a yaBel o
company HIUES
Codes : dsll :
1 2 3 4 1 2 3 4
A) b d ¢ a (A) b d c a
B d ¢ b a B) d ¢ b a
(C) b a d c € b a d c
D d a b c D) d a b c

45, What are the taxes levied on an 45. ds-Av2A Yol UR sl
intra-state supply ? £ CLEUH] AUIA B,

(A) CGST (A) CGST
(B} CGST and IGST (B) CGST e IGST
(C) SGST and IGST (C) SGST A= IGST
(D) CGST and SGST (D) CGST ol SGST
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46. According tothe Companies Act, 2013,

47.

48.

490

securities have to be transferred to

the IEPF when shares or dividends

remain unclaimed or unpaid for
consecutive years or more.

(A) Seven
(C) Five

(B) Six
(D) Four

QSCV in marketing means

(A) Quantity, Sales, Customer and
Value

(B) Quality, Service, Customer and
Value

(C) Quality, Service, Cleanliness and
Value

(D) Quality, Service, Convenience
and Value

Span of control is based on the theory
of relationships produced by

(A) Graicunas
(B) George Terry
(C) Barnard

(D) Simon

Quantitative easing is the common
name for

(A) Asset selling by Central Bank

(B) Asset purchasing by Central
Bank

(C) Lowering of the interest rate for
Commercial Bank lending

(D) When Central Bank reduces
rates on borrowing

46. Suoll URAR013 Yorol R AR WU

Bellésall daa ad ¥ Al
ay uxa Yl elcdl waal Ysagl
ol 4AA 8l Adl {leto)la
IEPF uitd dlucl{i »1d 8.

(A) dld (B) ©

(C) uin (D) R

47. ool QSCVal ud

(A) oseell, UL, ALES, Wal HEU
(B) ojalatl, Acl, 2Ules, el YL
(C) 9ularll, Rdl, AU, Wal HERL

(D) dLGlettll, Acll, YIUHcL, vt HEL

48. gl [Qrctlr B Uoiloll Rttid uR

WU & A WUallR
(A) JeFsYold
(B) s2lla 231

(C) oletls
(D) ALAHL

49, scloleéla Saflol Al M2 UHLeL

oM &
(A) Hrae ols gl MAsdey QUL
(B) Hea1e 65 gLl Basdell wildl

(C) cugllrat st tllAlell
cl% €Ll YaLSt

(D) U He o5 Gl Hidall
£2 uald
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50.

51.

52.

53.

Which of the following is a
“non-parametric test” ?

(A) x2test
(B) t test
(C) Z-test
(D) F-test

has developed Net
Benefit Model of Human Resource
Accounting.

(A) Morse

(B) N. Dasgupta

(C) S. K. Chakraborthy
(D) Flamholtz

At which place the LLP shall maintain
books of account ?

(A) At its corporate office
(B} At its branch office
(C} At its head office

(D} At its registered office

is Indian Credit Ratings
Agency.

(A) CARE
(B) FITCH
(C) S&P
(D) Moody’s

50.

51.

52,

53.

ol Aetl Higll 520 “elA-VAARS
2R” B ?

(A) x? 2
(B) t e
(C) Z-22
(D) F-2%@

A Hetd RBaelluradlal
A2 Ael(32 sl [@As 53 B.

(A) A

(B) dlal. ELUD L

(C) AU, &, usedell
(D) sAHglE»

LLP A olldletl AUSL sl
Avicllell sl & ?

(A) doll slule w5l u?

(B) Qefl suvit 2™ UR
(C) Aell Yuat Gl WR
(D) Aell allgll UG U

gaSlalel 3Sle 2ou
ol 8.

(A) CARE
(B) FITCH

(C) S&P

(D) Moody’s




e

54.

55.

56.

57.

Non personal contact tools (mail,
telephone) to communicate to the
prospects is called

(A) Indirect marketing
(B) Multi level marketing
(C) Direct marketing

(D) Personal marketing

Performance appraisal relates to
(A) Salary

(B) Standard

(C) Task valuation

(D) Dispute

NAFTA stands for

(A) North American Free Trade
Association

(B) North American Free Trade
Agreement

(C) North Asia Free Trade
Association

(D) North Association For Trade
Agreement

A researcher will apply which of
the following method to test the
significance of difference between
more than two population means ?

(A) Analysis of Variance (ANOVA)
(B) Chi-square test
(C) Rank-correlation test

(D) Mann-Whitney test

54.

55.

56.

87.

et da Hddl uuatstl et
(5101 cACGIRall Altiall (WAL,
2cll8lot)al sdcuHi WA B,

(A) U wendlsel
(B) oigrtflat eindlsal
(C) yeuel vostils2aL
(D) clse1olcd wostilsR0L

s1Ho{I3lof YeRUisotal A B.
(A) Wwou?

(B) dleL

(C) &l Healsel

(D) dsAR

NAFTA 32d

(A) ollel udlset (3 s AAfAget
(B) ollgl 2dlset (5 25 AN
(C) adl Aflan (5 25 AA{ Azt
(D) olle] A llatet H12 25 AR A2

Halus oflAsuniell 565 wrcdlell A
ol au? Al A2 aell
aAsteldoll Heclal USLAA ?

(A) Wewtcllfly 25 Adlaed (ANOVA)

(B) s1E-¥alR 222
(C) ws-518lAeet 222

(D) Rol-(Beoll 222
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58.

59.

60.

61.

Export Import (EXIM) Bank was
established in the year

(A) 1969
(B) 1975
(C) 1980
(D) 1982

Who propounded the opportunity
cost of theory of international trade ?

(A} Marshall

(B) Adam Smith

(C) Heckscher and Ohlin
(D) Heberler

Cost Inflation Index for FY 24-25 is
(A) 317
(B) 363
(C) 348
(D) 353

Anand and Baroda are partners
sharing profits in the ratio of 7 : 3.

Anand surrenders % of his share

and Baroda surrenders %3 of his

share in favour of Chani, the new
partner. What is the new profit sharing
ratio ?

(A) 3:1:3
B)y3:1:1
(C)1:3:1
Dy1:1:1

58.

59.

60.

61.

u&uld Qs (EXIM) Alsell 2euuetlle]
o

(A) 1969
(B) 1975
(C) 1980
(D) 1982

UdRAR AU catulell ds Uscell
Rudid 818 pue & ?

(A) e

(B) Asy »{lu
(C) 358l ual wecllat
(D) 6RAR

R ay 24-25 HIR2 Sl SesA et
o s
(A) 317
(B) 363
(C) 348
(D) 353

URiE WA oSt A(leA B %
7:30ll UHLEL o1l adA &. Al
o9LR(lal ottt euoflel? 33 A B wL
HI2 BURE Ulclloll ot§lal 1/7 dall
6L Wetloll al$lell Y5 eilatedl ol
e9lRll 12 52 Al otgl adweflell ol
ol 9 & ?

(A) 3:1:3
B)3:1:1
€ 1:3:1
D) 1:1:1




62. Capacity to contract means

(A) The parties are financially
sound to make contracts

(B) The parties are physically able
to enter into contracts

(C) The parties are legally
competent to enter into
contracts

(D) The parties are mutually
agreeing to enter into contracts

63. The credit score information is

prepared and provided by
(A) SEBI (B) CRISIL

(C) CIBIL (D) CARE

64. Apple phones use the pricing

strategy of

(A) Penetration pricing
(B) Skimming pricing

(C) Administrative pricing

(D) Cost plus pricing

65. Horizontal job rotation refers to

(A) Lateral transfer
(B) Lateral promotion

(C) Lateral motivation

{D) Vertical transfer

62.

63.

64.

65.

§AR s2cloll aH Al W

(A} uasl2 522 sl M wels
A uat Aol 33

(B) u&islal sAR sall W2 wdldls
A wa Sel %3291

(C) Uatsl 52AR scll M2 Slojoll
A sl yneldl e %23l

(D) U&SRL 512 5l HIZ WRULS
A A slar 37

39le 28lRel 1l daur

53 © Aol Yyl uld B.
(A) SEBI (B) CRISIL

(C) CIBIL (D) CARE

AUA Hlot (U g alloll Gullot
53 9.

(A} o112 wag (AAZalel) (Eud ol
(B} Hells ol (skimming) (Biet ol
(C) adladl Bud ol

(D) usdR axll Bud «{lcdl

UHR oAls3l vllcidat (A22Us) Ned -
(A) cuxgl@Quas @z oledl

(B) cwglAnas (@za) vadl

(C) ctglauas @QeA) Ylelget
(D) el eeecll
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66.

67.

68.

69.

Under the Consumer Protection
Act, complaint means

(A) Allegation in writing
(B) Oral allegation
(C) Claim in writing

{D) Oral claim for damage

The company has two factories

A and B at two different locations
where 7 and 8 employees work
respectively. The average monthly
salary paid to employees in these
two factories is Rs. 2,000 and

Rs. 1,500 respectively. What will be
an overall average monthly salary of
all employees in both the factories ?

(A) Rs. 1,733.33
(B) Rs. 1,750.00
(C) Rs. 1,300.00
(D) Rs. 2,333.33

NSDL was founded in the year
{A) 1949 (B) 1969
(C) 1955 (D} 1996

Economies of scale emanate from
(A) Learning by doing

(B) Production of two different
products jointly

(C) Production of two complementary
products separately

{D) Production in bulk

66. &S YA Yoo sRaLE WA
(A) cewedll 2uau
(B) »{uls w8y

(C) QML et
(D) jsallstoll WMLls £1cl

sucfloll A ¥sedl A wa B %€l
(U RAA B. Al SHIGUR 7 Wal
8 sl s 53 8. Axllell
A2 USloll €ls WIUR ajsA

2 2000 3ol T 1500 8. ol dsedlui
sIH 5l otz sHAEl Holla sa
w22 HElou€ls wouR decl 4 ?

67.

(A) Rs. 1733.33
(B) Rs. 1750.00
(C) Rs. 1300.00

(D) Rs. 2333.33

68. NSDLell 2uUlMUollef Ay ;
(A) 1949 (B) 1969
(C) 1955 (D) 1996

69. cilelo{l HIoU Geald B,

(A) saell ellwia
(B) A w2l Aeoj AYscl GeulEal
(C) A yrs Qelolef uctdtell Geuleof

(D} %2UHL Gewtea|
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70.

71.

72.

Business loss can be carried
forward for

(A) 10 years
(C) 4 years

(B) 9 years
(D) 8 years

Match List — I {Stock Index) with the
List — II {Country) and indicate the
code of correct matching.

List - I List - II
1. Sensex a. N. Korea
2. Heng Seng b. India
3. Nikkei c. Japan
4. Kospt d. S. Korea

e. Singapore

Codes :

1 2 3 4
(A) b c e d
B) e b d C
(C) b d

M e d b ¢

Specific goods means

(A) Goods which are identified by
parties at the time of the contract
of sale

(B} Goods which are identified by
parties after the formation of the
contract of sale

(C) Goods which are identified and
agreed upon by parties after the
formation of contract of sale

(D) Goods which are identified and
agreed upon by parties at the
time of the contract of sale

70. titile] ofslel UL A ¥ AsL2A

(A) 10 aY (B) 9 ati
(C) 4 ad (D) 8 axl
71. YALIRRS Bads) ofl ctetcdlal
YRA-11 (220 oll cucdl 8 Ao sA
Ual 2% HOclletl Sl Yudl.
YAl -1 Yyl -1
1. AoAsA a. G. sldlau
2. &0l Aedl b. Sodlan
3. o{L$] C. %Ulel
4. sl d. € sidlau
e. RbuaR
s
1 2 3 4
(A) b c e d
B) e b d c
(C) b e ¢ d
(D) e d b c
72. Wy HIA A2A

(A) % HIA UBSIR ARAURLelL $212
sclloil YHA Wl 518 B.

(B) % MG USIRA AU Scliell
52AR olle vl 512 B,

(C) % HIE U&LslRA AL scllsil
£312 olte Ul 51l w1

Aotlell AHA 8.

(D) % HIE U&SIRL AU S2clloll
5212 #HA o] stél U
Aottell dxd a8,
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73.

74.

75.

76.

The Pradhan Mantri Jan Dhan
Yojana launched in

(A) 2015
(B) 2014
(C) 2016

(D) 2024

Who printed the first advertisement ?
(A) Fred Perry

(B) Williarn Coxton

(C) Richard Craig

(D) Norman Pole

The “Basket Training Method”
means

(A) Developing decision skills
(B) Developing Institute
(C) Developing resources

(D) Development of production

Which of the following regulates
foreign trade in India ?

(A) RBI
(B) FEDAI
(C) DGFT
(D) SEBI

73.

74.

75.

76.

Yllel Holl etitiol 2losetlall
A Hl wRe UAA B,

(A) 2015
(B) 2014
(C) 2016
(D) 2024

818 YU culct dAd sidl el ?
(A) %s Ul

(B) [Acllan slaidlet

() R 3

(D) eliHet Wt

“oiade el uudl Aead
(A) Pgladdl sgand Qswad 8

(B) el Qsua B

(C) Al [Asua &

(D) Geuleotoll [As1

@ Asuniell sl (@9l e
RNl Reiog 52 ® ?

(A) RBI

(B) FEDAI

(C) DGFT

(D) SEBI
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77.

78.

The prices of commodity X’ on Multi
Commodity Exchange (MCX) from
Monday to Saturday was per kg.
Rs. 400, Rs. 430, Rs. 428, Rs. 375,
Rs. 390 and Rs. 421 respectively.
Calculate range co-efficient for this
commodity.

(A) 1.146
(B) 0.07
(C) 55
(D) 375

Match the items in List — [ with
List — II and indicate the code of
correct matching.

List - I List - I1
(Name of (Year of
the Bank) Establishment)
1. HDFC Bank a. 1990
2. ICICI Bank b. 1994
3. Kotak Mahindra

Bank c. 1993
4. Axis Bank d. 2001

Codes :
1 2 3 4

(A) b a c

B) b c d a
(C) b a d c
(D) b c a d

77.

78.

X’ ollHs drgd Boll Hedl SSLEL
BSU Ao UR A-AY W2 B, dell
et WHaR 2l alalr wesi

% 400, T 430, T 428, T 375, 7 390

wUA T 421 8, vl B wellex’
cledoll ectoll [Qcltis st

(A) 1.146
(B) 0.07
(C) 55
(D) 375
YA-1oll suotdlR YAl-11el ctotdl
A8 AN 53 Weal AL HAdLall 8lS
Y.

y{l1 yAl-11

(Glse] aln) RaUUetle] o)
1. Auslagdl ds a. 1990
2. wdlusdlaus ds b, 1994
3. 51285 Hdow U5 c. 1993
4, Asfly ols d. 2001
sl :

1 2 3 4

(A) b a C d
B) b ¢ d a
) b a d c
D) b ¢ a d
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79.

80.

81.

82.

A monopoly is

(A) One of the few producers of a
homogeneous product

(B) A single producer of a single
product

(C} One of the many producers of a
homogeneous product

(D) One of many producers of a
different product

Form number applicable for TDS in
respect of salary income

{A) Form 7
(B) Form 16
(C) Form 15
(D) Form 4

ABB Company’s fixed cost per annum
is T 2,40,000; variable cost per unit
T 15; selling price per unit X 30.
What number of units required for
break-even sales ?

(A) 40,000

(B) 80,000

(C) 1,60,000

(D) 16,000

Which of the following capital can be
issued at par ?

(A) Paid up capital

(B) Authorised capital

(C) Issued capital

(D) Called up capital

79.

80.

81.

82.

gou1) &

(A) VsUHtel UELlolt VAL
GeUlESIHL oll WS

(B) uls Uelgloll As Geules

(C) WsHMlol UELAAL UE
Geule S\Miell U5

(D) w9t YELAatl URL
Geule stHiell Vs

WRe( vitasuidll TDS Hizsil
glHall olol?

(A) 1 7

(B) $11 16

(C) 8 15

(D) 81 4

ABB $ueft at{(s a2l usd?
240,000 8. WsH (26 Uclld usct?
7 15; AsH (26 Auwal Bua

Z 30. AHde ©blg Quw

HI2 Bec dlsdl %39l ?
(A) 40,000

(B) 80,000

(C) 1,60,000

(D) 16,000

Al Aotimiel 56 HSl Ho(par) BHA
Wl Wl asa ?

(A) ®RUWE ysl

(B) ¥cllalr 3l

(C) lelr udd ygl

(D) oude ysl




B

83.

84.

85.

86.

The MSME Act was introduced in
(A) 2004
(B) 2005
(C) 2003
(D) 2006

Which of the following is NOT the
stage of product life cycle ?

(A) Introduction

(B) Growth

(C) Market Segmentation
(D) Decline

Who has/have formulated “Life Cycle
Theory” of leadership ?

(A} Reddin

}
(B) Maslow
(C) Hersey and Blanchard
)

(D) Fielder

Which of the following is NOT main
objective of fiscal policy in India ?

(A) To increase the liquidity in the
country

(B) To promote price stability

(C) To minimize the inequality

(D) To promote the employment
opportunities

83.

84.

85.

86.

MSME lRLlell wHA Hi

2AA V.
(A) 2004
(B) 2005
(C) 2003
(D) 2006

[AAotnisll g2l Uetal Paiot
Usoll Aeissl ol ?

(A) AR
B) @sia
() w2 [Qewsllsel

(D) uaLsl

Acjcctoll “Paiot Usell Rtuid” of
uscir 81Q 53 ?

(A) st
(B) Aucl
() &l Aes 0QAUS

(D) @C‘S%

ol AottHiell 520 ewAau A sl
ollc{loll Yyt GRaL a8l ?

(A) Ml dRAAL atuRdl
(B) (BHc RAcUal Grlowel

(C) WHHLoAcdl 3] 524l

} olls3lell dAsla Grlosot
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87.

88.

89,

90.

The research carried out to find the
solution of general and practical
routine problems is called

(A} Action research
(B} Basic research
(C) Not a research

(D) Applied research

Payment banks have to comply
with requirements of capital funds
of within a period of

18 months.

(A) Rs. 25 crores
{B) Rs. 40 crores
(C) Rs. 100 crores
{D) Rs. 200 crores

In a perfect competitive market,
a firm in the long-run operates at

(A) AC = MC
(B) AR = MR
(C) MR = MC
(D) P = AR = MR = AC = MC

Which one of the following is NOT
income from other sources ?

{A) Interest on fixed deposit in a
Bank

(B) Winnings from crossword
puzzles

(C) Gift in excess of ¥ 50,000 from an
unrelated person

(D) Profit on sale of building

87.

88.

89.

90.

A HLoA ol c2lelsl? A¥lEL
Yslloll ofl25201 M2 s

VLAl A2l tholol sEHI
LA 8,

(A) Bau (action) dglluet
(B) Ao dalust

(C) deluet o1efl

(D} calaely delluet

ysagll sl dAsiA oll
Yoleilnell w3dlauct, a¢ HRell
AHRAOUOUHL WEtst $2

(A) Zu s3Us

(B) %0 5315

(C) T900 853s

(D) %200 535S

Yol eRs1eS wemul Udlal
cloououdll ¥ulest

(A) AC = MC
(B) AR = MR
(C) MR = MC
(D) P = AR = MR = AC = MC

AU 58 A5 Wl UlAlA
ulas ol ?

(A) Asoll @R LUeR URe] cales
(B) slu-ad upscHidl Saun

(©) ot dotlld calsa wdell
Z 50,000 &l ayell Ae

(D) uslet UL URell o1
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91.

92.

93.

94.

The process of recording
transactions in original book of
entry is termed as

(A) Journalising
(B) Posting

(C) Balancing
(D) Reporting

A supply comprising of two or more
supplies shall be treated as supply
of the particular supply that attracts
highest rate of GST

(A) Composite supply
(B) Mixed supply

(C) Inter state supply
(D) Intra state supply

The Altman Z-score indicates a
company’s

(A) Capital structure
(B) Financial health
(C) Debt structure
(D) Market cap

Which is the basic version of physical
product ?

(A) Generic
(B) Core

(C) Expected
(D) Augmented

91. YA AUSHL cacsRlell ollug(lod
ysla 8.

(A) AHoAY
(B) ulctair(l
(C) Anae(l

(D) Wl

92. Ul Yasl ¥ 6l 3 A 5l ctuRpAaAl

Wl B ¥ ol wid yasl 2.l
ayui ay €2l GST cuof W3 8

(A) dYset Yasl

(B) B3 Yasdl

(C) WicdR-A%A Yasl

(D) icd<ls-A>U Yabl
Altman Z-score $Uol{lo]
Yua .

(4) HSl oy

(B) euglisla dgadl @eay

(C) E9 Moy
(D) wEe ¥u

93.

94. 53 cll[ds Velale] YN WU D ?
(A) caius

(B) HA

(C) vA@d

(D} R
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95.

96.

97.

98.

The process of searching the
candidate for the employment and
stimulating them apply for the jobs
in the organization is known as

(A) Selection
(B) Induction
(C) Recruitment

(D) Training

Which payment method most
often used in international trade
which offers the exporter the best
assurance of being paid ?

(A) Bill of lading
(B) Letter of credit
(C) Open account

(D) Current account

Arithmetic mean of 10 observations
is 12. If the value of each observation
increase by 2, the newly calculated
arithmetic mean will be

(A) 12
(B) 24
(C) 14
(D) 6

OVD means

(A) Office Verified Document
(B) Officially Valid Document
(C) Officially Verified Document
(D) Office Valid Document

95. A(d el yBat P GRearR
gl A UEIHL ALs3 HE 4R

g0l Y3 512 Aal sdcuHl
w1 B

(a) urieall
(B) uldslust
(€) el

(D) cllellH

ictAF2A QuIRHL 58 ysaallell
yauel Wl ay Gualol a8 ®
lslusizal Ysarll 1e s
Widudl W & ?

(A) @Ac 2 Alat

(B) A2 s bsle

(C) Ut AsGo

(D) 822 Ws1Ge2

96.

97. 10 wdclsete(l ourllcdls a2 12

8. % £35 vaclsold] Heat 2 ofl

attetdl 21d A ol suelldls
U219 62
(A) 12

(B) 24
(C) 14
(D) 6

OVD WA

(A) g AdsSs SlsyNe
(B) w0 glxucll Aclls Ssyoe
(C) glrucll Adlslss Slsyiloe
(D) WSl Acfls SisyRoe

98.




99, Positive implicit costs imply that

{A) Economic profit would be more
than the accounting profit

(B) Economic costs would be less
than the accounting costs

(C) Economic profit would be same
as accounting profit

(D) Economic costs would be more
than the accounting costs

100. Match the items in List — I with items
of List — II and indicate the correct
code of matching :

List -1 List - II
Assets Depreciation
1. Copy Rights a. 25%
2. Motor car b. 5%
3. Residential c. 10%
Building
4. Books d. 15%
Codes :
1 2 3 4
(A) a b d ¢
B)a d b ¢
(C) a d
(D) a c b

99. &50AH5 JUeld USHR JUA B

(A) wls ol A [Baucll stst s2cll
ay &t
wledls usdr A Raell usd?
5l 2] &2

wWUls o8l A Baoll oist Becl
% &9l

(B)

wells usdz a @auoll usdael
ay &

100. ll-1o{l citotclial Yll-11o{l clrotcll

A RO 53 Aa 2R HolcLall 81S
yadl:

Yl-1 -
Rasdl quldl
1. 51l 2uefe a. 25%
2. H2R? 512 b. 5%
3. 3610 USlat c. 10%
4, zﬂu‘{lzﬂ d. 15%
sl :

1 2 3 4
A) a b d c
B) a d b c
(C) a d b

(=N
¢}
o

(D) a
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